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1-12. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1- 
It even takes a .......... person a long time to mark exam papers, particularly those which include essay type questions as attention to detail is very important. 


A) flexible 
B) stable 

C) mediocre 
D) reckless 

E) meticulous

2- 
I can't believe she got so upset over such a .......... thing as a broken cup. I wonder how she reacts in real emergencies.


A) significant 
B) major 

C) tragic 
D) complete 

E) trivial

3- 
Why don't you .......... the video and get a drink if you are so thirsty?


A) break 
B) pause 

C) divide 
D) snap 

E) intervene
4- 
Francisco Pizarro .......... the Spanish expeditions to Peru, which led to the execution of the Inca chief and the conquering of the nation.


A) convicted 
B) attained 

C) initiated 
D) receded 

E) committed

5-    
The biggest hall in town.......for George and Sally's wedding reception, thinking that a lot of people........and they were upset to see that only half of it was full.
A) 
has been hired/attended           
B) 
is hired/will have attended
C) was hired/would attend             
D) has hired/have attended
E) was hiring/had attended
6-     
The weather forecast last night ....... for rain for today; but so far, we ....... a warm and sunny day. 
A) was calling/have                       
B) had called/are having
C) called/have had                        
D) has called/will be having
E) would be calling/had
7-    
You didn't see the suspect as he was leaving the bank,.......?
A) did you        
B) were you
C) was he                        
D) wasn't he
E) didn't you
8- 
George was ....... badly injured in the accident .........he will have to stay in hospital for several months.
A) too/that           
B) so/that
C) such/as                       
D) more/than
E) as/as
9- 
A lot of people have recently lost their jobs
....... the down-turn in the economy.
A) so as to                       
B) nevertheless
C) in order that                 D) in case of
E) on account of                                             
10- 
Everyone was pleased at how cool the weather turned out to be during July, .......it is usually much too hot.
A)
where                        
B) what
C) when                           
D) which
E)
that
11- 
We.......a hotel worse than the one we stayed at the food was awful, the beds were uncomfortable and the staff were extremely rude.
A) won't be choosing         
B) didn't use to choose
C) had better not choose                
D) couldn't have chosen
E) must not have chosen
12-
I will put this watch here for five minutes as I am going to swim. Please ______ it so it doesn't get lost.

A)
look before
B) take in


C) keep on
D)
hand in


E)
keep an eye on

13. -17. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
The drivers of pedicabs are usually students with strong legs and friendly (13) ……….. They  pay the owner $15 to $25 to (14) ………. a pedicab for a night. He  expects them  to keep the cab in good condition. A typical driver earns about as much as he  would by working (15) ………. a waiter. He  can keep all the money he  is (16) ……….  paid. One pedicab driver said that he  feels like a businessman. He  can (17) ………. a good wage and he  is his own boss.

13-


A)
personalities
B)
talks


C)
works
D)
walks


E)
conversations

14-


A)
buy 
B) 
sell


C)
rent
D)
build


E)
construct

15-


A)
like
B)
as


C)
such as
D)
likely


E)
namely

16-


A)
sold
B)
paid


C)
bought
D)
got


E)
earned

17-


A)
earn
B)
get


C)
win
D)
beat


E)
gain

18 – 22. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

18.  
Even   the   committee   was   impressed   at   the   speed   and efficiency......

A) 
till more problems have emerged.
B) 
whether the employees were prepared to go on strike
C) 
that the project will be completed on time
D) 
although some of the members have learned earlier
E)
with which the team worked
19.
.......,   the   reply   of   the   United   Nations   divided   world opinion.
A) 
As  soon  as  the  NATO  countries  have  formulated  an effective policy
B) 
Unless Greece is severely punished for its aggression.
C)  No matter how the board is constituted
D)  As was to be expected
E)
When the oil-producing countries gather in 
Vienna to discuss
20.
....., you have the opportunity to get magnificent views of the oak-covered coastal mountain ranges that rise up from the Black Sea.
A)  
If only the new road had been opened
B)  
However unfairly the state of roads was being 

attacked
C)  As you headed for Trabzon
D)  Even   though   a  great  deal  of money   has   

gone   into constructing the road
E)
As you drive along the coast road
21.    Dramatic   cross   cultural   problems   have   occurred   in   the United States.......
A)  
ever   since   immigrants   from  underdeveloped   nations began to pour into the country
B)  
until    new    regulations    concerning   immigrants   were introduced
C)  some of which would have been regarded as 

harmful
D)
 started at the end of the century
E)  as soon as World War II ended
22.   
One of the best suggestions was put forward by the oldest member,......
A) 
that the managing director is especially impressed 

B) 
who is generally the quietest person in the committee 

C)   unless it was approved by the committee 

D)  though   the   financial   demands     might  be   difficult   to
E) 
once anyone else has time to make any contribution to meet 
23. — 24. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

23-
Oh, it’s terrible I think. It has many 


disadvantages.


A)
What about this T-shirt?


B)
Would you like to live in a metropolis?


C)
What is the weather like?


D)
How do you feel about living with your parents in a small city?


E)
What are the disadvantages of a small city?

24-
Yes, I’ve had it since my last birthday.


A)
When did you buy that car?


B)
Is your car new?


C)
Have you ever sold a car?


D)
Have you got a child?


E)
Have you ever received presents?

25-26. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

25-
Usually women drivers prefer small cars because they are easy to park.

A)
Park etmekte zorlanan bayan sürücülerin, çoğun​lukla küçük arabaları tercih etmeleri gerekir.

B)
Park etmesi kolay olduğu için, küçük arabalar ço​ğunlukla bayan sürücüler tarafından tercih edilmek​tedir.

C)
Bayan sürücüler küçük arabaları, genellikle, park  etmesi kolay olduğu için tercih ediyorlar.

D)
Küçük arabaları park etmek daha kolay olduğu için, bayan sürücülerin tercihi bu yönde olmalıdır.

E)
Genellikle bayan sürücüler tarafından kullanılan kü​çük arabaları park etmek oldukça kolaydır.

26.
On the one hand, technology makes life easier for man, but on the other hand, it endangers his existence.

A)
Teknoloji insanın yaşamını kolaylaştırmaktadır an​cak bir taraftan da varlığını tehdit etmektedir.

B)
İnsan, yaşamını kolaylaştırmak için teknolojiler üret​mektedir fakat bu arada varlığını da tehlikeye sok​maktadır.

C)
Teknolojik gelişmeyle yaşamını kolaylaştırmaya ça​lışırken varlığını tehlikeye sokan yine insanın kendisidir.


D) 
Teknoloji, bir yandan insanın yaşamını kolaylaştırır​ken, öte yandan varlığını tehlikeye sokmaktadır.

E) 
İnsanın, yaşamını kolaylaştırmak için ürettiği tekno​lojiler, bir taraftan da varlığını tehdit etmektedir.

27-28. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

27. 
Öğleden beri devamlı araba sürmüş olmalarına rağmen köye vardıklarında nerdeyse gece yansı ol​muştu.

A) 
They had been driving non-stop since noon, but it was just midnight when they arrived at the village.

B) 
When they arrived at the village, they were driving steadily since noon, and it was already midnight when they arrived at the village.

C) 
Even if they had driven steadily since noon, they ar​rived at the village almost after midnight.

D) 
It was already after midnight while they were driving steadily towards the village.

E) 
Although they had driven continuously since noon, it was almost midnight when they arrived at the vil​lage.

28-
Eğer sekreterler işlerini düzgün yapmış olsalardı, konferans başarılı olurdu.

A)
The excellent work of the secretaries is what really made the conference so successful.

B)
As the secretaries had done their work properly, the conference was successful.

C)
If only the secretaries work properly the success of the conference is assured.

D) 
The success of a conference depends on the way the secretaries organize it.
E)
If the secretaries had done their work properly, the conference would have been a success.

29-31.  soruları verilen parçaya göre cevaplayınız.

All firms spend a great deal of money on advertising their goods, and when we buy these goods we have to pay extra to cover the cost of advertisements. Still, most of us do get a certain amount of pleasure out of advertisements themselves, especially out of the ones on the radio and the television. Further, newspapers and magazines are sold to us cheaply because publishers collect a lot of money from advertisers.

29- 
According to the passage, advertisements are ............ .

A) 
expensive and useless 

B) 
often entertaining

C) 
sold to us cheaply

D) 
published only in newspaper 

E) 
sold by newspapers

30- 
It is stated in the passage that all firms ............. .

A) 
sell their advertisements cheaply to magazines 

B) 
advertise on the radio

C) 
realise that it is necessary to advertise

D) 
should be banned from advertising on the television 

E) 
earn a lot of money from their advertisements

31- 
We can understand from the passage that Newspapers ............ .

A) 
are published by advertisers

B) 
would cost more if they did not print 


advertisements 

C) 
are cheaper than magazines

D) 
are advertised on the radio

E) 
entertain us by publishing funny advertisements

32-34.  soruları verilen parçaya göre cevaplayınız.

The coffee plant is an evergreen shrub or small tree, cultivated in hot, moist climates. The most flavourful beans  are produced at elevations between 900 and 1,800 metres above sea level, especially on volcanic soil. A coffee tree, grown from seed, bears its first fruit in 5 to 8 years and annually yields more than 2 kg of fruit — the red, seed-bearing coffee “cherries” from which about 0.5 kg of green coffee seeds, or beans, is obtained. The cherries must be harvested by hand, for only those which are fully ripened are picked.

32-
The passage tells us that a coffee tree ………
     

A)
grows best in a location slightly above sea level


B) 
loses its leaves if the climate is not hot and 



humid

C)
can only survive at elevations between 900 and 1.800 metres above sea level 

D)
has green leaves all year round

E)
can grow to be a large tree on volcanic soil

33-
From the passage, we can Infer that ……………           

A)
coffee trees are most widely found on the slopes of volcanoes

B)
coffee cherries are harvested by hand In order not to Injure the fruit

C)
machines cannot be used for picking the coffee fruit

D)
the flavour of the coffee is best when the beans are picked from a tree 5 to 8 years old

E)
cultivating coffee in cold climates requires special methods

34-
From the statement in the passage, one can conclude that ……………         

A)
the altitude has an effect on the flavour of the coffee

B)
two kilograms of coffee fruit are planted in order to cultivate a tree

C)
coffee seeds resemble unripe cherries when first picked 

D)
instead of fertilizers, volcanic soil should be used in order to increase the coffee yield


E)
the annual yield of a coffee tree varies from 0.5 to 2 kg


35-37.  soruları verilen parçaya göre cevaplayınız.

Among the more than 1.5 million species of living things that have been described and named, the human species is unique in that its members adapt to the environment primarily by a complicated form of learned behaviour called culture, which is transmitted from generation to generation by the symbol system of language. For all practical purposes, geographic variation in our species is now irrelevant because people adapt to the environment primarily by means of behaviour, whose biological basis is in the brain and is not reflected in superficial differences in body surfaces. When they first evolved, people who had dark- coloured skins were better adapted to climatic conditions near the equator than those who had light-coloured skins, but few human beings now live under natural conditions.  Also, technological advances have assured that at the present time, human beings of various races are as likely to reproduce in one environment as in another. The superficial differences between existing human races are thus largely relics of the past and are not of much functional significance today.

35- 
The author’s main point in this passage is that ………… 


A)
the differences between human races today are not very important

B)
language is important to the human species

C)
people with dark-coloured skins were better adapted to living near the equator

D)
geographic variation plays an important part in the human species


E)
language is a means of communication among the different nations.

36-
According to the passage, the human species is unique because of ………… 

A)
having different coloured skins

B)
adaptation to the environment through cultural behaviour

C)
technological advances in human reproduction

D)
not living in natural conditions


E)
using a learning a language.

37-
It can be inferred from the passage that members of the human species ………… 

A)
don’t live near the equator

B)
are biologically different from each other

C)
transmit their learned behaviour through language

D)
cannot reproduce between races


E)
learn different languages and cultures.

38-40.  soruları verilen parçaya göre cevaplayınız.

Paris, the capital of France, is a city where both the modern and the historical can be appreciated at the same time. One of the best examples of this is the Louvre. The world-famous art gallery was once a royal palace and now houses five thousand works of art including the Mona Lisa. Visitors come from all over the world to see these and to admire the grand architecture of the building itself. However, in the eighties, a more contemporary attraction was built in the gallery’s courtyard; giant glass pyramids which, because of their sharp contrast, look surprisingly spectacular. The Musée d’Orsay is another art gallery whose present func​tion differs greatly from its original use. Now filled with paint​ings by Van Gogh and Monet, the building was once a railway station. On the other hand, the Beaubourg, also known as the Pompidou Centre, is a thoroughly modern building. The home of con​temporary culture, it is unique in that all of its pipes and ducts are on the outside. For those who prefer to watch the world go by rather than look at the world in pictures, Les Deux Magots and the Café de Flore are definitely worth a visit. These two street cafés are places where many famous writers and intellectuals from the past meet for coffee and stimulating discussions.

38-
It’s mentioned in the passage that the Louvre Museum ……………


A)
is a place where thousands of works of art are exhibited.


B)
is a place where Mona Lisa lived.


C)
is the best example of French architecture in the 18th century.


D)
was once a railway station.


E)
houses the paintings by Van Gogh and Monet.

39-
We can infer from the passage that ……………


A)
Paris is the symbol of a modern city in Europe.


B)
the places whose present functions are exhibition centres  were once used for different aims.


C)
historical cites and buildings in Paris are under control of the government.


D)
giant glass pyramids were built in the eighteenth century.


E)
people come all over the world to see and admire the giant glass pyramids.

40-
We can conclude from the passage that Les Deux Magots and the Café de Flora ……………


A)
are street cafes where intellectuals and writers came together and discussed the subject matters.


B)
are the places where international conferences take place.


C)
are the homes of contemporary cultures.


D)
attract people’s admiration with their originalities.


E)
serve as a centre for paintings by famous artists.

41-42. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

41-  
We can't speak of our economy as healthy when there is a widening gap between rich and poor

A) 
Our economy is improving, so there will be less difference between rich and poor.    

B) 
If our economy were better handled, there would be less of a gap between rich and poor.   

C) 
The strength of our economy is reflected in the increasing equality between rich and poor.

D) 
Our economy can't be called healthy as the rich are getting richer and the poor are getting poorer.

E)  
It is possible that our economy is in good shape, but many people are still poor.

42-  
He is one of a tiny number of men who have been cured of heavy drinking.

A) 
Very few men have managed to quit drinking heavily, and he is one of them.

B) 
Many men have tried to give up drinking alcohol like him but few have managed

C) 
A growing number of alcoholic men are trying to get rid of this addiction, and he is among them.

D) 
He only drank alcohol on a few occasions after he had decided to quit it. 

E) 
It's hard to cure alcoholic men of their addiction, but he somehow managed this.

43 -44. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

43.
…………… Young people regard it as a prestige symbol, a sign of adult status. Once the habit is es​tablished, the ritual of lighting up somehow relie​ves tension. Then again, to offer a cigarette is a gesture of goodwill, like shaking hands; a sharing of cigarettes is a way of establishing a bond of sympathy. The trouble is that smoking is a dange​rous habit which is best avoided, for all the eviden​ce points to the same conclusion, that smoking is bad for one’s health.


A)
The use of tobacco is responsible for diseases of the respiratory system, the most serious being lung cancer

B)
Nicotine is a stimulant of the nervous system and also has an effect on all the blood vessels of the body

C)
It is hardly surprising that there is so much objection to smoking, considering the long list of harmful effects of a habit believed to be a pleasure

D)
Smoking has never received medical approval, e​ven before the discovery of its relationship with lung cancer

E)
We can all give reasons as to why people smoke, but the basic one is probably social

44.
Part-time work suits employers because it helps them to reduce their pay bills. ……………, rather than keeping idle people on their payrolls. Often, firms also find that part-timers cost less per hour than full-timers. Even if they get the same hourly rate, part-timers may not qualify for costly fringe benefits, such as paid sick leave, holidays or occu​pational pensions.

A)
And many people also prefer to do several different part-time jobs

B)
However, part-timers often don’t have the same degree of commitment

C)
So, there are now a large number of agencies which supply part-time staff

D)
It allows them to employ workers only when they need staff

E)
Many companies are forced to make good workers redundant

45-46. sorularda verilen durumda söylenebilecek sözü bulunuz.

​

45. 
You’re in a queue in a supermarket and the person behind you has only one item. You have a trolley full of shopping, and you want to invite the person behind to go ahead. You say:

A)
Wait your turn. I’ve been in this queue longer than you have.

B)
Would you like me to pay for that for you? It would be quicker.

C)
Do you know how much this will cost?

D)
Would you like to go first? I’ll probably be a long ti​me.

E)
There’s somebody waiting behind you in the queue.

46.
You’re at the cinema and you can’t see the film be​cause the person in front of you is extremely tall. There are spare seats in his row but not in yours, so you politely ask him to move along, saying:

A)
Someone of your height should be sitting in the back row.

B)
Excuse me, would you mind moving to another se​at, as I can’t see properly?

C)
Excuse me, could you please ask the usher when there will be an interval?

D)
Move to another seat if you want to see the film. 

E) Excuse me, where did you buy your popcorn?

47-48. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

47. 
Tourist
: How much is this carpet?


Seller
: It’s $1,000, really cheap!

Tourist
: I’ll give you $ 500 !

Seller
: You’ll bankrupt me! $ 800!

Tourist
: ……………

Seller
: Not normally, but I’ll make an



exception for you.

A)
The carpet isn’t worth that much.

B)
Can I think about it and come back?

C)
Have you got anything cheaper?

D)
Does that include shipping arrangements?

E)
$ 700, and that’s my final offer.

48. 
Tour guide: The coach will pick us up at 9 




   o’clock, outside the hotel, so don’t 




   oversleep!


Tourist 
: ……………


Tour guide : Hopefully at about 7 o’clock but




  obviously it depends on the traffic.

A)
What time will we get back?

B)
How long will the trip last?

C)
When does the hotel start serving breakfast?

D)
Can reception give us an alarm call?

E)
Do you know what time lunch will be?

49-50. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

49.
I) 
Appetite is the incentive to adequate nutrition, 




and the satisfaction of hunger is the signal when 




to stop. 


II) Yet, over-nutrition and the ills that accom​pany it are of increasing importance. 


Ill) It is highly artificial to prescribe exact amounts of daily intake.


IV)
However, people need some guidance on the foods with which to satisfy their hunger. 


V) The best guide, as stated by the experts, is to blunt the appetite on the body-building foods, the proteins.

A)l
       B) II             C)Ill           
D)IV               E)V

50.
I) 
The temperature of the human body is about 



37 0C in health. 


II) 
But even a slight drop in temperatu​re could 



bring on hypothermia. 


III) 
However, a hot external environment makes it increasingly difficult to lose heat. 


IV) 
As heat is lost by the evaporation of sweat, there must be air movement around the body. 


V) And the atmosphere must be favourably humid to ease this process.

A)l
       B) II             C)Ill           
D)IV               E)V
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